EARAROBEEIERT — 2 N— IBISH —F

201552H148 (£) 1EFR=5SH

IR Vs 1000FF #5R4BE (

R’E)

HEE] EE

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A~&<£] 1 7 15,000,000 § ~ 2 7% :6,000,000 W ~ 33&

b
13,800,000 B

4 7% 12,300,000 57 1,500,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< . Elespa| :34. — . . BRI (EiH)
i 3 RIS FNE - B4 s 1(3_4)7 5-7 33.5[102.5| 1 zg)a A
RF4—TALNT N BTLA TR HET7— L
o6 | F. NU-— 1:34.9 43 33.9(100.0 | 3 | 452 |MEEfT GEi#)
2 5| A3ALTI—7F 57.0 1) 46) |ETEAF—NF (T2 ()
T4 —TANT N B1TRYLTHTR HET7—L4
ot = =y 47 | EHEH 1:35.0 8-10 33.5|99.3 | 6 508 | SEHE— (ER)
3 6 HEFZZINL X 57.0 (1/2) -6) e
R:T7IT2AZ2¥AL B:7RKIALZ HET7—L
S 3 = 4 5 | HIDWHKIE 1:35.0 15-15 [ 33.0| 99.6 | 7 546 | $HARERBA (3EH)
417113 =t v XTX 57.0 () (-10) NS
R:F4—TALNT N B:F—% J =% Ty — L
5 00 = B4 | BIBEA 1:35.0 13-13 [ 33.2] 99.5 | 5 494 | KEFERIE (i)
5|8[15) 7T =N =71~ 5.0 (7€) Lo |AE%E
:d—IR7Va— B:F514 K12 b J—HrTp—L
. - . o4 | BElE 1:35.1 5-3 34.0| 97.8 | 2 470 | BEHL ()
6l5/9|7I>7x=y TR 57.0 (7€) -6 | @) Ha
RZAZHNTIZy IR B:ov1>TLTv— fints it
LTS — it 4 | EHE 1:35.1 7-7 33.9197.9 | 9 450 | BMFBL (E5)
71518 | NWTT—=2a 55.0 (7€) © |8 FrovbrTr—L4
XL ThANAN BNV T—F v — EBRTF— L
_ . 4 5 | BREIES 1:35.2 12-10 [33.7] 96.9 | 4 478 | HSMREA (Kid)
8 10| V77 FL—- 57.0 1/2) (6 | ) E<BIT—2
LY I5TLIFL N YIS/ — (ELAIEIIES
H— # o6 | AlllREA 1:35.2 1-1 34.4| 94.5 | 15 | 498 |FOEHEEZ (i)
9 7 57.0 (74<) 2) | B 2= ZR—h
RYLKYIYRIR BixgJ Ay w77 — L4
N SIS 4t 6 | FlBEX 1:35.2 13-13 [ 33.5| 97.1 | 10 | 480 |HBT (B’X)
1oy 11| ¥2Ev Yz 55.0 (7€) (-g) | EEEH
A:Azamour BV v E-—F HET77— L
— o N LEHER : - KBEL (E#)
1" 0| T —THYEK 7 e (11315/;1) 10-10 | 33.9| 94.6 | 11 zzg? tgaazf
ST —TA2NT b B:Yaty b HET7—L4
SIS o4 | HEHEAH 1:35.5 2-3 34.5| 91.3 | 12 | 452 | LEEZ (E#)
1l | TR ILE 57.0 (1/2) w2 | W ¥ITLYEI5T 5707
R:F4—TALNT b BN AT EvilLyRT7—L
PN 7 | HEEEE 1:35.7 10-3 34.7| 88.5 | 13 | 478 |ERR (E#)
13)8(14| #7=F > b T o (1 1/4) o) | ) HAL-2£-3
R:FAI=TF—X B:AaA5=—t BAT 7 — L
3 S L 4 6 | =HERK 1:35.7 8-9 34.4| 9.2 | 8 504 | EIFBEA (BX)
141 712| Y37 F > T LY 57.0 (NF) t6) | EEES
RFLRAHE— BT —HINRE— (/) HEa-KL—Ya> AET7
= t 6 | SeliE— 1:35.8 2-2 34.9| 86.5 | 14 | 504 |REEE (E#)
15 4| ARXRERYIN=FT g 57.0 (7€) (t2) | B EvILy RT7—4
LN=YI514 BihUTLFLU-— e
@ 21 L
£ 46.2-33.9
NA>Z2A L |12.6-11.2-12.3-12.4-12.3-11.2-11.1-11.6
® 1—F—@EBIERL
13—7F-
2ol=5"=
Jo=5r= 7(1,4)5(3,9)8(6,12) (2,14)10(11,15)13
43—+ — (x7,4) (1,5,9,14) (3,8)12(6,2,10) (11,15)13
[ N5
B 3 310H 714K 3-5 470 e E 2-3 920M JEE 3-5-6 2,970
# B 3 140M 3-6 710 B = B 1,030 JEH 3-5-6 10,510M
5 200H 5-6 1,140H B H 3-5 1,880M
6 250M

ABICOVWTRDTEEERROODE. TR LIV,




